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Resuelve: 

 
x + 172 = 326    x– 248 = 129 

 
 
 
 
 
 
 

 
 

y – 167 = 295    y + 202 = 305 
 

 
 
 
 
 
 
 
 

z + 189 =  246     z – 226 = 342 
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Averiguo el valor de: 

 

x+ 148  =  329

x - 29  =  185

z - 76  =  85

w - 29  =  185

1)

1)

3)

4)
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Juguemos con ecuaciones 

 

1)  x+ 126 = 265 
 
 
 
 
 
 
 
 
2) y – 265 =192 
 
 
 
 
 
 
 
3)  z+242 = 293 
 
 
 
 
 
 
 
4)   x– 217 = 195 
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¡SIGUE PRACTICANDO! 
Resuelve ecuaciones 

 

x +  1 3 6  =  2 6 8

n - 2 1 2  =  1 6 8

y +  8 7 =  1 2 9

n - 8 5  =  1 2 6

z  +  2 4 2  = 3 6 5

 


